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FACULTY OF COMMERCE
B.Com. (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2018
(CBCS Pattern)
COST ACCOUNTING

Paper 1
(MCQ & Theory)
(Monday, 15-10-2018) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (1) Solve Question No. 1 on OMR sheet during the first half an hour.

(1) Q. No. 1 is compulsory.
(111  All questions carry equal marks.
(iv) Simple calculator is allowed.
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MCQ
1. Multiple Choice Questions : 10
agwf«:ﬁ R
(1) Insurance, Telephone and Postage are the examples of :

(&) Production overheads

(b)  Office and administrative overheads
(0 Selling overheads

(d Distribution overheads

P.T.O.

BSFBDFO47EEC3E92637A 32503A 1B68C8



62)

(1)

(iv)

(v)

( 2) CV—208—2018

(0  fost sifem

(@) foawo sifeer

Prime Cost + Works Overheads + Office Overheads = ................. .
(a9 Total Cost (b)  Work Cost

(0 Cost Production (d  None of these

U= -q-ﬁa:l-q + ﬁ-q-i‘-uﬂ- afw " °|’1|qu’1¢| 3Tr%|0¢|¢| L eeeeeeeneeeessieeen .
(a) TRU GeEd (b TR aRem

(0 A i (d) A A&

The following is the function of cost accounting :
(a) Ascertainment of cost (b) Control overcost

(0 Reporting or presentation (d)  All of these

ROl 1 1 R 3 oo dEEAE w9 TR
(a)  9eT" e (b) ~ afieEE fEsm

(0 I d TR (d  ade! o

In Taylor’s differential piece rate system ........c.................. wages are not
given.

(a)  High piece rate (b)  Low piece rate

) Guaranteed (d  None of these

m f\(q:[ EFI'SE'{ q@?ﬁﬁ ................................. H\ZLQ EC’n Sk "I"E:.\'

(a) =4 49 T (b =49 e

(0 i (d AU A&

Disadvantages of time rate system is :

(a) Security to workers (b)  Quality of work

(0 Simplicity (d) No incentive
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In Halsey Plan, formula of Wages =

Time Taken

(a) Time Taken x Time Rate + Standard Time (Time Saved x Time
Rate)
) ) Standard Time 7
(b) Time Taken x Time Rate + ; (Time Saved x Time
Time Taken
Rate)
. . Time Saved i
(¢ Time Taken x Time Rate + : (Standard Time x
Standard Time
Time Rate)

1
(d Time Taken x Time Rate + 5 (Time Saved x Time Rate)

Bl ASHTER Wi g =

AT
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(d) wamﬁmxuﬁrma+%(mﬁaﬁwa€axuﬁmm

P.T.O.
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(vi) Maximum Stock Level =

(a) Re-order Level + Re-order Quantity — (Minimum Consumption
x Minimum Re-order Period)

(b)  Re-order Level — (Normal Consumption x Normal Re-order Period)
(0 Maximum Consumption x Maximum Re-order Period
(d  None of the above

FHAA hY el =

(a)  TA:3TRY UIaed + UA:3TIRY Al — (ThAM Susi /el x oM g :emew
IO )

(b)  TA:STRY UMed — (WM WERf 9T x A JA:37RST hiolasl)
(0  GEf=l HAE UM x HATE GH:AQY hleat

(d It AT
(viri) The Store Ledger records all :

(a)  Receipt of Material

(b)  Issue of Material

(0 Receipt and Issue of Material

(d)  No Receipt and No Issue of Material

9-|iSI{ Hl‘i\fﬂ “I>||H® .................................. :‘ﬁ—q- %a?ﬁ T\ﬂﬁ

(a) 9T ST

(b)  Tria S

(0 9 & fiea angi=

(@ 9T WrpiEl ARl | i e A

(ix) ~ Basic apportionment of rent and rates is :

(a)  Area occupied (b)  No. of Workers

(0 Direct Wages (d) Value of Machinery
‘1:"@' 9 m Fl":lTUTQﬁ'{ 3:[%;"1 ............................... 3:“%-

(a) AT ST (b)  wfer= w&m

(0 w8 w9l (@ T A
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(x) Base of apportionment of electric power is :

(a9 No. of Workers (b)  Area Occupied

(0 Horsepower of Machine (d)  None of these

E iR Tl TRt i B o ST

(a)  HTIRET FE& (b) O ol &

(0  oRaE-TERAT () (d) Tl

Theory
From the following information, prepare a cost sheet : 10
3
Direct Materials 1,60,000
Direct Wages 1,05,000
Direct Expenses 15,000
Office Salary 37,500
Factory Rent 6,000
Coal, Oil, Gas and Water 6,000
Office Insurance 3,000
Factory Lighting 1,500
Factory Salary 9,000
Printing and Stationery 4,500
Depreciation on Factory Machinery 7,500
Postage 3,000
Office Manager’s Salary 4,500
Rent of Warehouse 17,000
Advertisement 4,400
Carriage Outwards 1,650
Sales 4,50,000
Sales Manager’s Salary 5,200
P.T.O.
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Or
(fenam)

CV—208—2018

§
1,60,000
1,05,000

15,000
37,500
6,000
6,000
3,000
1,500
9,000
4,500
7,500
3,000
4,500
17,000
4,400
1,650
4,50,000
5,200

The production data of a manufacturer for 2016 was as follows :

Material

Direct Wages
Work Overheads
Office Overheads

Selling & Distribution Overheads

Sales

B5FBDF047EEC3E92637A32503A1B68C8

§
20,000
30,000
15,000
10,000
15,000

1,00,000
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A work order has been executed in the year 2017 and the following expenses
have been incurred :

4
Materials 25,000
Direct Wages 35,000

Assuming that in 2017 the rate of factory overheads have gone up by 12.5%
and selling and distribution overhead and office overheads have each gone
down by 5%. At what price should the product be marked so as to earn the
same rate as in 2016.

The factory overheads are based on Direct Wages and Office, Selling and
Distribution Overheads on factory cost.

o 2016 WS TH! SARHN AT w0 gEd FEe B

4
Bl 20,000
YA A 30,000
fafoft st 15,000
wEeE ey 10,000
fasnt amfor foaaeor sifaer™ 15,000
ot 1,00,000
2017 1 IUEES! Th HE-ITQY HAAd shell ST AR TIcid @9 el e :

4
ESiep| 25,000
YA A 35,000

2017 =1 auiq fHon Tfegand 12.5% 3 a1, fast anfor faawor 9 seiaa sifyeEm
5% 9 U2 Bsdd 3T TR €%d 2016 AT 9Ud Hesiedn U= THT WK Sh{vIHIa!
e ekl Hed 39 d 9.

it stferera geae AR o1 shrrierd o faskt s7fn faawo sifuera fmift giemmer
ST 3TE.

P.T.O.
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Two components A and B are used as follows :

A
Normal usages (units per month) 300
Minimum usages (units per month) 100
Maximum usages (units per month) 500
Re-order quantity (units) 1,000
Re-order period (months) 2 to 4

Calculate for each component :
(1) Re-order Level

(1) Minimum Level

(ii7) Maximum Level

(rv)  Average Stock Level.
‘' et ‘e’ A SN W AW Wit YHO hell STl

Cap
qE=d: IR (T.H. Thah) 300
fFAM 9 (SH. Theh) 100
FHHA I (T.H. Theh) 500
JIGRT |1 (Teheh) 1,000
Ry hiemaEt (Afg) 214
YAk WHUEE! SAR0H h{

(1) TG e

(1) IEIEIRIGE

(677) N | 5 M S

(fv)  TOE0 ThY o
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400

200

600
1,000
3 to 5

400
200
600

1,000

345

10
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Or
(fenam)
On the basis of the following information, calculate the earning of Ram

and Shyam under straight piece basis and Taylor’s Differential Piece Rate

System :

Standard Production — 8 units per hour
Normal Time Rate — T 0.40 per hour
Differential to be applied :

80% of piece rate below standard

120% of piece rate at or above standard
In a 9 hours day

Ram produces 54 units

Shyam produces 75 units.

Weftel JIfedr=an STER A (07 M= hEied gy o o=l fU= ™ g g

UenUl [Hooehd  ehlel @

AT 3 Ufd 9 — 8 Teheh
HYRY §7F S Gid a8 — T 0.40
= R wela gH o

THITYET HH FE T 80%

g e IUen WA wE U= 120%

Tenl feadrdial 9 M Td

TS 3G 54 Teheh

MY IR 75 Tehdh.
P.T.O.
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From the following information compute the Machine-hour-rate for a

machine : 10

(1)

(i)

(€77))

(iv)

(v)

Per Annum

N

Rent and Rates (1/4 space is occupied by this

machine) 60,000
General lighting (15 workers are engaged in the

dept out of them 6 are working on this machine) 15,000
Supervisor’s salary (1/3 time is devoted to this

machine) 30,000
Insurance 4,000
Lubricant cotton waste etc. 1,000

The cost of machine is ¥ 1,60,000 and its scrap value is estimated to be

T 10,000. It is assumed from the past experience that :

(a)
(D)
(0
(d)

The working life of machine is 20,000 hours.
The machine will work 2,000 hours annually.
The estimated cost of repairs is ¥ 10,000 during the machine life period.

The machine consumes 4 units of power. Per hour rate of power is 50

paise per unit.

et Hifgd] o Tehl M= IA-ard-S el ¢

(1)
7))

(711)

wfa =
3
e g X (A TFH 1/4 ST bt TR) 60,000
T TR (fI9mTdia 15 hHa=amieht 6 Sy
T IR HH HLAK) 15,000
TR dad (1/3 9@ A IAEE! <dwd) 30,000
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(iv) o == 4,000

(v) 9 9%E HUS IR 1,000

I3 qRed Hed T 1,60,000 3TA &= e 38 210,000 BEa. AFA STIHAEEA
3 TR ERUA AT TR I

() IF HEXG g 20,000 TEH 3.
() A wfd 99 2,000 IE FH FQ.

(0  Io= WM e ol @ 310,000 379

(d 99 W A 4 Tha facgaan SR & A0 faega IeR=n R Tl Tdah 50
1 TR

Or
(feram)
Write the functions of Cost Accounting.
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